

#### THE BOARD OF DIRECTORS

Chair, GAIL REGAN President, Cara Holdings Ltd.

President, PATRICIA ADAMS
MAX ALLEN
Producer, IDEAS, CBC Radio
ANDREW COYNE
Columnist, National Post
GLENN FOX
Professor of Economics, University of Guelph
IAN GRAY
President, St. Lawrence Starch Co.
CLIFFORD ORWIN
Professor of Political Science, University of Toronto

Cara Holdings Ltd.

Secretary: Treasurer, ANNETTA TURNER
ANDREW ROMAN
Barrister & Solicitor, Miller Thomson
ANDREW STARK
Rotman School of Management, University of Toronto
GEORGE TOMKO
Resident Expert, PSI Initiative, University of Toronto
MICHAEL TREBILCOCK
Chair, Law & Economics, University of Toronto
MARGARET WENTE
MODEL THE Globe and Mail

September 4, 2014

BY EMAIL & COURIER

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge St, Suite 2701 Toronto ON M4P 1E4

Dear Ms. Walli:

Board File No. EB-2012-0459
Enbridge Gas Distribution Inc. – 2014-2018 Customized IR Plan
Energy Probe – Costs Submission

Pursuant to the Decision and Rate Order, issued August 22, 2014, please find attached the Costs Submission of Energy Probe Research Foundation (Energy Probe) in the EB-2012-0459 proceeding for the consideration of the Board.

As Mr. Aiken informed the Board Panel at the initial Oral Hearing on February 20, 2014, Energy Probe was involved in 5 other proceedings during the Oral Hearings in this proceeding. Mr. Aiken advised the Panel that Energy Probe would undertake no cross examinations but would be monitoring the hearing through the transcripts and would provide submissions in due course.

Should you require additional information, please do not hesitate to contact me.

Yours truly,

David S. MacIntosh

Case Manager

cc: Norm Ryckman, Enbridge Gas Distribution Inc. (By email)

Andrew Mandyam, Enbridge Gas Distribution Inc. (By email)

Fred Cass, Aird & Berlis LLP (By email)

Randy Aiken, Consultant to Energy Probe (By email)

Interested Parties (By email)

Energy Probe Research Foundation 225 BRUNSWICK AVE., TORONTO, ONTARIO M5S 2M6

Phone: (416) 964-9223 Fax: (416) 964-8239 E-mail: EnergyProbe@nextcity.com Internet: www.EnergyProbe.org



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				nstructions			
<ul><li>All claims n</li><li>A separate</li><li>Disbursement</li><li>However, or</li></ul>	must be "Detail nts Bein nly one "	ut is indicated by yellow-shaded in Canadian dollars. If applical of Fees and Disbursements Bei g Claimed") is required for each 'Summary of Fees and Disburse of be supported by a completed	ole, state ex Rate: ng Claimed <sup>i</sup> n lawyer, an ements" cov	cchange rate " (comprising nalyst/consult yering the wh	and country o a "Statement ant and articli ole of the par	of initial currency Country: of Fees Being Cling student/para ty's cost claim sh	aimed" and a "Statement of Ilegal.
Ex	cept as	provided in section 7.03 of the	e Practice D	Direction on C	ost Awards, i	temized receipts	s must be provided.
File # EB-	2012-	0459		Process: _	Enbridge G	as Distribution	2014 - 2018 Rates
Party:	Energ	y Probe Research Foundation	on	Affia	nt's Name:	Annetta Tu	urner
HST Numbe	er:	10730 5146 RT0001	Privation valvosoloitinina indistrussus issuuseissuuse		HST I	Rate Ontario:	6.50%
		Full Registrant Unregistered Other			Qualifyi	ng Non-Profit Tax Exempt	<b>V</b>
				Affidavit			
1,	Marie	Annetta Turner		, of the Cit	y/Town of		Toronto
in the Prov	vince/S	itate of	Ontar	io, Canada		, swear or affi	rm that:
2. I have exa Being Claime 3. The attach Disbursemer Ontario Ener 4. This cost c	mined a ed", "Sta ned "Sur nts Being rgy Boar claim do	tive of the above-noted party ( ill of the documentation in sup tement(s) of Fees Being Claime mmary of Fees and Disburseme g Claimed" include only costs in d process referred to above. es not include any costs for wo s 6.05 and 6.09 of the Board's F	port of this ed" and "Stants Being C acurred and rk done, or	cost claim, in atement(s) of laimed", "Sta I time spent d time spent, k	cluding the at Disbursemen tement(s) of F irectly for the	tached "Summa ts Being Claimed Fees Being Claime purposes of the	ry of Fees and Disbursements ". ed" and "Statement(s) of Party's participation in the
Signature	of Affi	ant	later de esta de la companya de la c	meditarin in normal processor and processor			
Sworn or a	affirme	ed before me at the City/T	Town of				,
in the Prov	vince/S	tate of	2	,	on	(date)	'

**Commissioner for taking Affidavits** 



### Affidavit and Summary of Fees and Disbursements

	Process:	Enbridge Gas Distribution 2014 - 2018 Rates
oundation		
mary of Fe	es and Disburse	nents Being Claimed
\$	98,216.50	
\$	1,782.29	
\$	6,499.91	
\$	106,498.70	
	Payment Inform	ation
to: Energy	Payment Inform	
NOTATION AND AND AND AND AND AND AND AND AND AN		
ess: 225 Br	Probe Research I	Foundation
-	\$ \$ \$	mary of Fees and Disburser \$ 98,216.50 \$ 1,782.29 \$ 6,499.91



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2012-0459		Process: En	bridge Gas Distribเ	ıtion 2014 - 2018 Ra	tes
Party:	Energy Probe Research Foundati	on	Service Provic	ler Name: R	andy Aiken	A00
			Year Called to		Completed Years sing/Years of Relevant	
	SERVICE PROVIDER TYPE	(check one )	Bar		Experience	
	Legal Counsel		terrena de ana la será de anticipación completibil describitos del conferencia de completibilidad de complet		29	
	Articling Student/Paralegal		Exp(x)0000000 cpx(y)000000 mmsscc as a death dama a mid-cal damino construction by a constitution of the c	-		
	Consultant	<b>V</b>		Hour	ly Rate: \$330	
	Analyst					
	For Consultant/Analyst:	CV attack	ched vided within previous 24	<b>HST Rate Charged</b> (en	nter % ): 6.5%	

	Co blosi	iaea	within previo	us z	4 months						
Statement of Fees Being Claimed											
	Hours	Но	urly Rate		Subtotal	-	HST		Total		
Pre-hearing Conference						-					
Preparation	00000000000000000000000000000000000000	\$	330.00	\$	**	\$	**	\$	_		
Attendance		\$	330.00	\$	••	\$	-	\$			
Technical Conference											
Preparation	3.3	\$	330.00	\$	1,089.00	\$	70.79	\$	1,159.79		
Attendance	15.0	\$	330.00	\$	4,950.00	\$	321.75	\$	5,271.75		
Interrogatories											
Preparation	47.6	\$	330.00	\$	15,708.00	\$	1,021.02	\$	16,729.02		
Responses	24.5	\$	330.00	\$	8,085.00	\$	525.53	\$	8,610.53		
Issues Conference											
Preparation	7.2	\$	330.00	\$	2,376.00	\$	154.44	\$	2,530.44		
Attendance	5.8	\$	330.00	\$	1,914.00	\$	124.41	\$	2,038.41		
ADR - Settlement Conference											
Preparation	17.6	\$	330.00	\$	5,808.00	\$	377.52	\$	6,185.52		
Attendance	40.4	\$	330.00	\$	13,332.00	\$	866.58	\$	14,198.58		
Proposal Preparation		\$	330.00	\$		\$	hat.	\$			
Argument											
Preparation	100.4	\$	330.00	\$	33,132.00	\$	2,153.58	\$	35,285.58		
Oral Hearing	1000pgg-81-0000000000000000000000000000000000				na dalah samundan dan dalam na pamari kuma dalah 1646 katalah dalah dalah dalah dalah dalah dalah dalah dalah d						
Preparation	0.9	\$	330.00	\$	297.00	\$	19.31	\$	316.31		
Attendance	0.1	\$	330.00	\$	33.00	\$	2.15	\$	35.15		
Other Conferences							norm accessore a specific manufact of the distribution pointed in activated of the desillations				
Preparation		\$	330.00	\$	115	\$		\$			
Attendance	Q. (1)	\$	330.00	\$		\$		\$			
Case Management		\$	170.00	\$		\$		\$			
TOTAL SERVICE PROVIDER FEES				\$	86,724.00	\$	5,637.06	\$	92,361.06		



Randy Aiken

### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2012-0459	Process:	Enbridge Gas Distribution 2014 - 2018 Rates

Service Provider Name:

Party:

Energy Probe Research Foundati

		Net Cost			Total	
Scanning/Photocopy					\$	
Printing					\$	
Courier				COON CONTRACTOR OF THE CONTRAC	\$	-
Telephone/Fax					\$	PROPERATOR OF PROPERTY AND
Transcripts				224	\$	
Travel: Air	AND CONTROL OF THE SEASON OF T				\$	Pour Principal Control of the Control of the Principal of the Control of the Cont
Travel: Car		\$ 536.30	\$	34.85	\$	571.15
Travel: Rail					\$	
Travel (Other):	Parking at OEB	\$ 97.35	\$	6.33	\$	103.68
Parking				ACOMONO A REPORTE A MILITARIO DE REPORTO DE CONTRA DE PROPERTO DE CONTRA DE	\$	
Taxi					\$	tiskittimen visit siide tämistä kisina olii linuksiikitemmää olii kaikikika kaikikikaja olii mikiinikeen kaiki Russ
Accommodation		\$ 992.82	\$	64.53	\$	1,057.35
Meals		\$ 85.02	\$	5.53	\$	90.55
Other:				<del>aughann a maraid a deann an air a deann an an air a</del>	\$	neverne hand det (2000) (2000) (2000) (2000) (400) (400) (400) (400) (400) (400) (400) (400) (400) (400) (400) And
Other:		aktiva minima kanan di pinangan pinangan di pinangan pinang			\$	
Other:					\$	
TOTAL DISBURSEMEN	TS:	\$ 1,711.49	Ś	111.24	Ś	1.822.73

### INVOICE

#### **AIKEN & ASSOCIATES**

578 McNAUGHTON AVE. WEST CHATHAM, ONTARIO, N7L 4J6 (519) 351-8624 randy.aiken@sympatico.ca

INVOICE NO. 022-2014

DATE September 2, 2014

HST REGISTRATION NO. 130417983

TO Mr. David

Mr. David MacIntosh Energy Probe Research Foundation 225 Brunswick Avenue Toronto, Ontario, M5S 2M6

PROJECT	
EB-2012-0459 - Enbridge Gas Distribution - 2014 - 2018 Rates	
Page 1 of 3	

DATE	HOURS	DESCRIPTION	RATE	TOTAL
Sept. 3	1.20	Review of need for preliminary issue	1	
Oct. 9	0.50	Review of e-mails & preparation of comments re FT & UDC issues		
Oct. 10	5.20	Review of evidence & preparation of interrogatories		
Oct. 11	4,70	Attendance at information session (by phone)		
Oct. 13	0.20	Review of e-mails & preparation of comments re FT & UDC issues		
Oct. 15	1.00	Intervenor conference call re FT & UDC issues		
Oct. 15	1.30	Conference call with EGD re FT & UDC issues	ernement er mar men ser mar se skrivet her frem en helvet er folke folke en hille bliske betre fre	
Oct. 25	5.80	Attendance at issues conference (by phone)		······································
Oct. 26	4.80	Review of evidence & preparation of interrogatories		
Nov. 1	2.10	Review of PEG Report		
Nov. 2	2.00	Review of evidence & preparation of interrogatories		
Nov. 3	6.70	Review of evidence & preparation of interrogatories		***************************************
Nov. 4	7.90	Review of evidence & preparation of interrogatories		
Nov. 5	3.20	Review of evidence & preparation of interrogatories		
Nov. 9	4.30	Review of evidence & preparation of interrogatories		
Nov. 10	5.90	Review of evidence & preparation of interrogatories		
Dec. 15	2.60	Reveiw of updated & additional evidence		
Dec. 18	1.20	Review of APPRO evidence		
Jan. 7	4.20	Review of interrogatory response & preparation of technical conference questions		ingapaping mang apamah da jaga dahi paga manjanda dahi da jaga dahi da da manjadi jaga papah amanj
Jan. 8	2.20	Review of interrogatory response & preparation of technical conference questions		_
Jan. 10	6.30	Review of interrogatory response & preparation of technical conference questions		
Jan. 11	4.90	Review of interrogatory response & preparation of technical conference questions		
Jan. 12	5.70	Review of interrogatory response & preparation of technical conference questions		
Jan. 16	1.20	Review of interrogatory response & preparation of technical conference questions		
Jan. 16	5.00	Attendance at technical conference		
Jan. 17	3.80	Attendance at technical conference		
Jan. 17	0.60	Review of transcript		
Jan. 20	3.00	Attendance at technical conference (by phone)		
Jan. 24	1.90	Review ot technical conference undertaking responses		
Jan. 24	2.30	Preparation for settlement conference		
Jan. 25	6.90	Preparation for settlement conference		
Jan. 26	5.20	Preparation for settlement conference		
Jan. 27	5.80	Attendance at settlement conference		
Jan. 27	1.30	Preparation for settlement conference		
Jan. 28	3.40	Attendance at settlement conference		
Jan. 29	4.50	Attendance at settlement conference		

## PROJECT EB-2013-0459 - Enbridge Gas Distribution - 2014 - 2018 Rates Page 2 of 3

DATE	HOURS	DESCRIPTION	RATE	TOTAL
Jan. 30	5.20	Attendance at settlement conference		
Jan. 31	2.50	Attendance at settlement conference		
Feb. 3	4.80	Attendance at settlement conference (by phone)		
Feb. 4	5.50	Attendance at settlement conference (by phone)		
Feb. 5	4.80	Attendance at settlement conference (by phone)		
Feb. 6	3.90	Attendance at settlement conference (by phone)		
Feb. 13	0.90	Intervenor conference call re hearing plan		
Feb. 20	0.10	Attendance at hearing		
Mar. 25	3.90	Review of transcripts & undertaking responses		
Mar. 26	4.60	Review of transcripts & undertaking responses		
Mar. 27	4.00	Review of transcripts & undertaking responses		
Mar. 28	3,60	Review of transcripts & undertaking responses		
Mar. 29	2.90	Review of transcripts & undertaking responses		
Mar. 30	4.70	Review of transcripts & undertaking responses		
Mar. 31	5.90	Review of transcripts & undertaking responses		
Apr. 2	4.50	Review of transcripts & undertaking responses		
Apr. 4	4.80	Review of transcripts & undertaking responses		
Apr. 6	5.30	Review of transcripts & undertaking responses		
Apr. 7	2.80	Review of argument in chief		
Apr. 7	4.70	Preparation of argument		
Apr. 8	5.20	Preparation of argument		***************************************
Apr. 10	4.50	Preparation of argument		
Apr. 11	6.50	Preparation of argument		
Apr. 12	4.80	Preparation of argument		
Apr. 13	5.20	Preparation of argument		
Apr. 15	3.90	Preparation of argument		
Apr. 16	2.20	Review of Staff submissions	an e manana di Afrika andrian antropia andrian andrian andrian andrian andrian andrian andrian andrian andrian	
Apr. 16	4.10	Preparation of argument		
Apr. 17	4.70	Preparation of argument	maran (maranamanananananananananananananananana	
Apr. 20	0.30	Sharing of draft submission with other intervenors		
Apr. 20	2.20	Review of draft SEC submission & changes to draft submission		
Aug. 4	2.70	Review of decision and draft rate order		
Aug. 6	3.20	Attendance at draft rate order technical conference		
Aug. 11	0.60	Review of and response to numerous emails		
Aug. 12	0.40	Review of and response to numerous emails		
Aug. 13	3.60	Review of undertaking responses & preparation of comments on draft rate order		
Aug. 19	0.50	Review of reply submission on draft rate order		
	262.80	Sub-total - Consulting Costs	330.00	86,724.00

Make all cheques payable to AIKEN & ASSOCIATES Payment is due upon receipt of payment for the project

## PROJECT EB-2012-0459 - Enbridge Gas Distribution - 2014 - 2018 Rates Page 3 of 3

DATE	HOURS DESCRIPTION	RATE	TOTAL
<u>EXPENSES</u>			
Travel - Car			
Jan. 15	Chatham to Toronto (303 kms @ \$0.354/km (HST component calculated below))	107.26	
Jan. 17	Toronto to Chatham (303 kms @ \$0.354/km (HST component calculated below))	107.26	
Jan. 26	Chatham to Toronto (303 kms @ \$0.354/km (HST component calculated below))	107.26	
Jan. 31	Toronto to Chatham (303 kms @ \$0.354/km (HST component calculated below))	107.26	
Aug. 5	Chatham to Toronto (303 kms @ \$0.354/km (HST component calculated below))	107.26	
	Sub-Total - Travel - Car		536.30
Travel - Oth	er er		
Jan. 16	Parking at Ontario Energy Board	17.70	
Jan. 17	Parking at Ontario Energy Board	17,70	
Jan. 27	Parking at Ontario Energy Board	17.70	
Jan. 30	Parking at Ontario Energy Board	17,70	
Jan. 31	Parking at Ontario Energy Board  Parking at Ontario Energy Board	8.85	
Aug. 6	Parking at Ontario Energy Board	17.70	
	Sub-Total - Travel - Other		97.35
Accomodati	on on		
Jan. 15	Hotel, including parking	136.95	
Jan. 16	Hotel, including parking	136.95	
Jan. 26	Hotel, including parking	140.95	
Jan. 28	Hotel, including parking	140.95	
Jan. 29	Hotel, including parking	140.95	
Jan. 30	Hotel, including parking	140.95	
Aug. 5	Hotel, including parking	155.12	
	Sub-Total - Accomodation		992.82
<u>Meals</u>			
Jan. 16	Lunch	5.00	
Jan. 16	Dinner	17.70	
Jan. 17	Lunch	7.00	
Jan. 27	Lunch	9.96	
Jan. 29	Dinner	17.70	
Jan. 30	Lunch	9.96	
Jan. 30	Dinner	17.70	
	Sub-Total - Meals		85.02
SUMMARY	TOTAL FEES AND EXPENSES		88,435.49
	HST DETAIL		
	Consulting Fees (@ 13.0%)		11,274.12
***************************************	Travel - Car (@ 13.0%)		69.72
	Travel - Other (per receipts)		12.65
	Accomodation (per receipts)		128.50
	Meals (as per receipts)		11.03
	TOTAL HST		11,496.02
		CHPTOTAL	00 475 47
		SUBTOTAL H.S.T.	88,435.49 11,496.02

 BROTAL
 88,435.49

 H.S.T.
 11,496.02

 TOTAL
 \$99,931.51



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2012-0459		Process: _	Enbridge Gas	Distribution 2014 - 2	2018 Rates
Party:	Energy Probe Research Foundati	on	Service Pr	ovider Name:	David MacIntosh	1
			Year Called to		Completed Year Practising/Years of Ro	
	SERVICE PROVIDER TYPE	(check one )	Bar		Experience	
	Legal Counsel				14	
	Articling Student/Paralegal			-		
	Consultant	<b>\</b>			Hourly Rate: \$	5290
	Analyst					
	For Consultant/Analyst:	CV attac	ched	HST Rate Ch	arged (enter % ):	5.5%
		☑ CV prov	ided within previou	us 24 months		

	LJ CV PIOVI	ueu	within previo	, us 2.	4 1110111113			
St	atement o	f Fe	ees Being	Cla	imed			
	Hours	Но	urly Rate	(	Subtotal		HST	Total
Pre-hearing Conference								
Preparation	1.3	\$	290.00	\$	377.00	\$	24.51	\$ 401.51
Attendance	6.0	\$	290.00	\$	1,740.00	\$	113.10	\$ 1,853.10
Technical Conference						-1024-7-16-7-11111		
Preparation	1.0	\$	290.00	\$	290.00	\$	18.85	\$ 308.85
Attendance		\$	290.00	\$	tel.	\$	***	\$ pa-
Interrogatories								
Preparation	7.7	\$	290.00	\$	2,233.00	\$	145.15	\$ 2,378.15
Responses	1.0	\$	290.00	\$	290.00	\$	18.85	\$ 308.85
Issues Conference								
Preparation	1.0	\$	290.00	\$	290.00	\$	18.85	\$ 308.85
Attendance	6.0	\$	290.00	\$	1,740.00	\$	113.10	\$ 1,853.10
ADR - Settlement Conference								
Preparation		\$	290.00	\$		\$	**	\$ 
Attendance	1.5	\$	290.00	\$	435.00	\$	28.28	\$ 463.28
Proposal Preparation		\$	290.00	\$		\$	pia.	\$ ****
Argument								
Preparation	7.8	\$	290.00	\$	2,247.50	\$	146.09	\$ 2,393.59
Oral Hearing								
Preparation		\$	290.00	\$		\$		\$ 
Attendance	5.5	\$	290.00	\$	1,595.00	\$	103.68	\$ 1,698.68
Other Conferences								
Preparation		\$	290.00	\$	was a second control of the control	\$		\$ ***
Attendance		\$	290.00	\$	est.	\$	-	\$ w
Case Management	1.5	\$	170.00	\$	255.00	\$	16.58	\$ 271.58
TOTAL SERVICE PROVIDER FEES				\$	11,492.50	\$	747.01	\$ 12,239.51



### **Detail of Fees and Disbursements Being Claimed**

File # EB-	2012-0459	Process:	Enbridge Ga	s Distribution 2014 - 2018 Rates	
Party:	Energy Probe Research Foundati	Service Provid	er Name:	David MacIntosh	

	Statement of	f Disbursem	ents Being Claimed			
			Net Cost		HST	Total
Scanning/Photocopy	TO THE PROPERTY OF THE PROPERT					\$ No.
Printing						\$ **
Courier						\$ -
Telephone/Fax						\$ 1.0
Transcripts						\$ M+
Travel: Air					\$ w	
Travel: Car						\$ 14
Travel: Rail						\$ -
Travel (Other):	Parking at OEB	\$	70.80	\$	4.60	\$ 75.40
Parking						\$ Po.
Тахі						\$ -
Accommodation						\$ ton.
Meals						\$ ***
Other:						\$ -
Other:	TO TOTAL TITLE A TRANSPORT AND					\$ ***
Other:						\$ ***
		and control to the second		10.54		
TOTAL DISBURSEMENTS:		\$	70.80	\$	4.60	\$ 75.40

#### Time Sheet for D. MacIntosh

#### Board File: EB-2012-0459 EGDI 2014 - 2018 Rates

Date	Hours	Note
25-Jul-13	1.80	Review Prefiled Evidence
26-Jul-13	0.50	Draft Notice of Intervention
27-Aug-13	0.80	Review August Correspondence & Procedural Order # 1
03-Sep-13	0.50	Draft Letter to Board re Need For Preliminary Issue
02-Oct-13	0.80	Review EGDI Gas Supply Plan Pre Presentation Material
02-Oct-13	1.50	Attend Gas Supply Plan Presentation by EGDI at OEB
10-Oct-13	1.50	Review Evidence For Interrogatories
11-Oct-13	4.50	Attend EGDI Information & Issues Development Session
23-Oct-13	1.00	Prepare for Issues Conference, Review Intervenor Emails
25-Oct-13	6.00	Attend Issues Conference - Not Transcribed
28-Oct-13	0.50	Draft Issues List, Many Emails
03-Nov-13	1.80	Review PEG Report
11-Nov-13	1.80	Draft Interrogatories
12-Jan-14	1.00	Draft Technical Conference Questions
28-Jan-14	1.50	Attend Settlement Conference
20-Feb-14	5.50	Attend Oral Hearing
14-Apr-14	2.00	Draft Argument
19-Apr-14	1.50	Draft Argument
20-Apr-14	2.00	Draft Argument
21-Apr-14	0.50	Draft Argument
24-Jul-14	1.00	Review Board Decision With Reasons Issued July 24th
14-Aug-14	0.80	Draft Submission on Draft Rate Order & Draft Accounting Order
Total	38.80	Preparation
Date	Hours	
26-Jul-13	0.50	CM - File Notice of Intervention
04-Sep-13	0.20	CM - File Letter to Board re Need For Preliminary Issue
11-Nov-13	0.30	CM - Check & File Interrogatories
21-Apr-14	0.30	CM - Check & File Energy Probe Argument
14-Aug-14	0.20	CM - Check & File Submission Draft Rate and Accounting Orders
Total	1.50	Case Management

| RECEIPT | CAR PARK: Yonge & Eglinton Ctr DEVICE: Paystation 4 PAID: 20/02/14 01:06P | SHORT TERM | 20/02/14 03:19A | EXIT: 20/02/14 01:09P | PARKING DURATION: 000 03:47 | CHARGED DURATION: 000 02:40 | AID: CAD20.00 | X FREE CAD17.70 | A.T. 13%: CAD20.00 | CAD20.

PT

CRR PAP\* - Eglinton Ctr
DEVICE: Paystation 4
PAID: 11/10/13 03:48F

SHORT TERM 024242
ENTRY: 11/10/13 03:51P
PARKING DURATION: 000 02:40
PAID: CAD20.00
TAX FREE CAD7.70
V.A.T. 13%: CAD20.00
CASH PAYMENTS: CAD20.00

RECEIPT	
84888888484404448888888888888888888888	0 E C E E E E E E E E E E E E E
CAR PARK: Yonge &	Eglinton Ctr
DEVICE:	Paystation 4
PAID: 02	/10/13 <b>03:</b> 47P
SHORT TERM	023258
ENTRY: 02	/10/13 01:21P
EXIT: Ø	/10/13 04:01P
PARKING DURATION:	000 02:25
CHARGED DURATION:	000 02:40
PAID	CAD20.00
TAX_FREE	CAD17.70
V.A.T. 13% :	CAD2.30
CASH PAYMENTS:	CAD20.00

RECEIPT	
DEVICE:	Eglinton Ctr Paystation 4 10/13 05:00P
	025670 10/13 09:25A 10/13 05:00P 000 07:35
PAID: TAX FREE V.A.T. 13% : CASH PAYMENTS:	CAD20.00 CAD17.70 CAD2.30 CAD20.00